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C = C0 + bYd 
I = I0 – di 

    :  

Y = C + I 
Y = C0 + bYd + I0 – di 
Y – bY = C0 + I0 – di 
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S = I 

S = - C0 + (1-b)Yd 

 s 
I = I0 – di 
- C0 + (1 – b)Y = I0 – di 

 
IS )Equation IS( 
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C = 40 + 80 Yd 
I = 70 – 200 i 

 :  

 .( IS.  

 .( :  

i = 0,05   i = 0,10 
Y = C + I 
Y = 40 + 0,8 Y + 70 – 200 i 
0,2 Y = 110 – 200i 
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IS   :  

:  

C = C0  bYd   C0 < 0 , 0 < b < 1 
I = I0 – di    I0 > 0  ,  0 < d < 1 
G = G0 
T = T0 + tY   T0 > 0 ,  0 < t < 1 
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    :  

Y = C + I + G 
Y = C0 + bYd + I0 – di + G0 
Y = C0 + b (Y – T) + I0 – di + G0 
Y = C0 + bY – b( T0 + tY) + I0 – di + G0 

Y = C0 + bY – bT0 - btY + I0 – di + G0 

Y – bY + btY = C0 – bT0 + I0 – di + G0 

  

 IS  
   

  :  

 :  

C = 100 + 0,75 Yd 

I = 150 – 600 i 
G = 120  
T = 15 + 0,2 Y 
Y = C + I + G 

 :  

-  IS  

Y = 
)2,0(75,075,01

1200600150)15(75,0100 i  

 

Equation IS 
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G = 20 
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Equation IS 
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4.      

)S + T (   

 :Y = Ke C 

 
 
 
 
 
 
 
 
 
 

 IS   :  

  :  

 :  

 

 

Y = C +I + G + (X-M) 
Y = C0 + bYd + I0 – di + G0 + X0 – M0 – nY 
Y = C0 + b(Y- T) + I0 – di + G0 + X0 – M0 – nY 
Y= C0 + bY -bT + I0 – di + G0 + X0 – M0 – nY 
Y = C0 + by + b(T0 + tY)+ I0 – di + G0 + X0 – M0 – nY 
Y – bY + btY + mY = C0 – bT0 + I0 – di + G0 + X0 – M0 – nY 
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S + T + M = G + I + X  
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- IS  

Y = 05,0)8,0(2,08,01
320150600130)20(8,0120 i

 

Y = 41,0
600401 i

 

 
 

Equation IS 

  :  

IS :  
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3. . 

4. .  

C = 120 +0,8 Yd 

I = 130 – 600i 
G = 150 
T = 20 +0,2Y 
X =20 
M = 3 + 0,05Y 

 

Y = 978,04+1463,41i 
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   )KEYNES(  

)Préférence à la liquidité ( :  

  )transaction de Motif( :M d
t 

       

       

   Y  

M d
t  = L(Y) 

Md
t= rY 

r:   .  

 )KEYNES (

)Cambridge.(  

  

  )précaution de Motif(:   

   .   )KEYNES ( 

      

 :  

  

  

 )Spéculation de Motif(: M d
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M d
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M d
t
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 )KEYNES ( .  

  

  

  

  

  

 

      

   :  

Md = Md 
Md = d

s
d
t MM  

Md
 = L1 (Y) + L2 (i) 

Md= L (Y, i) 

i
L  < 0 , 

Y
L  > 0  

3.2.   )  :( 

   Ms=  Md 

   .  

 LM:  

L : .  

M :.  

LM:  

 :         M  Ms = 

 :         Md= L (Y, i) 

M d
s
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M d
t
 = L(i) 
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 :          Ms = Md   
 

 LM  

  .  

 :   :  

:         Ms = 200 

   :    = 0,25 Y M d
t 

 :       = 50- 200iM d
s  

 :  

LM:  

Ms = Md 
200 = 0,25 Y + 50 – 200i 
0,25 Y = 125 – 200 i 

 LM  

Equation LM 
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t  + M d

s  



 :)IS-LM(  
 

149 
 

LM ) HICKS:( 

         

 )IS(.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  LM     

      

)Combinaisons(  )Y, i ( .  

i1 

i2 

M d
t
 

Y 

M d
t
 =  Y 

 
3 

M d
t
 

M d
s

Ms =M d
t
 + M d

s
 

 
2 

Y 

LM 

 
4 

M d
s

M d
s
= L(i) 

 
1 

M d
s1
 M d

s 2

i1 

I2 

i i 

Y1 Y2 



 :)IS-LM(  
 

150 
 

LM:  

LM .  

- )BC(

LM  :y = Ms k  

: 1  k =  

 :.  

  

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  

Y = 
r
1   MS 



 :)IS-LM(  
 

151 
 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

 MS /
SM 

  .  

 

 LM 

:  

i 

M d
t

Y 

M d
t
 = r Y 

 
3 

M d
t

M d
s

Ms =M’s 
 

Ms 

 
2 

Y 

LM 

 
4 

M d
s

M d
s
= L(i) 

 
1 

i i 

LM’ 

Y = sM1
 



 :)IS-LM(  
 

152 
 

 
 
 
 
 
 
 
 
 

  

  

 :  

 :  

- : MS = 250  

-  := 0,20Y d
tM 

-  := 150 - 500i dsM 

 :  

1.  : 

 700  800  900 

2. 
. 

 :  

Ms = d
tM  + dsM  

dsM  = Ms - d
tM  

Y = 700  dsM  = 250 – 0,20 (700) = 110 
Y = 800  dsM  = 250 – 0,20 (800) = 90 
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LM 

M d
ti 

LM’ 

M d
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Y = 900  dsM  = 250 – 0,20 (900) = 70 
dsM  = 150 – 500i 

110 = 150 – 500i  i = 0,08 
90 = 150 – 500i  i = 0,12 
70 = 150 – 500i  i = 0,16 

   : 

:  

 .  

 160. 

 : 

i (%) 20 15 10 5 

dsM  20 40 70 100 

 :  

1. .  

2.  )LM.( 

3. LM 120. 
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1.3. )IS = LM:( 

 :  

1.  :Y = C + I S = I.  

IS  
b

diIC
1

00 Y =  

2 .:  

Ms = Md 
M  = d

tM  + dsM  
M  = L1 (Y) + L2 (i) 

M  = L (Y,i) LM   

Yi   

 :  :  

C = 90 + 0,625 Y 
I = 150 – 100i 

d
tM = 0,25Y 
dsM = 50 – 200i 

Ms = 180 
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LM 

i1 

 

Y 



 :)IS-LM(  
 

158 
 

 :  

Y = C + I 
Y = 90 + 0,625Y + 150 – 100i 
0,375Y = 240 – 100i 

IS  

:  

Ms = d
tM  + dsM  

180 = 0,25Y + 50 – 200i 
0,25Y = 130 + 200i 

    LM  

 )IS = LM:(  

IS = LM 
Y = 640 – 266,66i   640 – 266,66i = 520 + 800i 
Y = 520 + 800i  120 = 1066,66i 

   i* = 0,1125 

   Y* = 610 

0,1125 

610.  

 :  

– )

IS – LM(:  

 
 
 
 
 
 

 

Y = 640 – 266,66i 

 

Y = 520 + 800i 
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S= -C0 +s Yd 
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S =I 
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 : :  

 C = 120 + 0,60yd 
 I = 200 – 600i 
 G = 110 
 T = 20 + 0,20Y 
 Md = 40 + 0,50Y – 600i 
 Ms = 400 

 :  
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3.3 .:  

 LM 

.  

 

 

  .

.  

 y .

 .  

  :  

 :  

C = 90 + 0,625Yd 
I = 150 – 100i 

d
tM = 0,25Y 
dsM = 50 – 200i 

Ms  = 180 

 :   

  

1. :  

Y= C + |I 
Y= 90 + 0,625Y + 150 – 100i 
0,375Y = 240 – 100i 

 

i0 

i1 

Y0 Y1 Y2 

LM0 

IS0 
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LM1 
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IS  

2. :  

Ms = d
tM  + dsM  

180 = 0,25Y + 50 – 200i 
0,25Y = 130 + 200i 

 
LM 

3.  :  

IS = LM 
640 – 266,66i = 520 + 800i 
120 = 1066,66i  I = 0,1125 

Y = 610 
 i = 0,1125 
 I*= 138,75 
 C* = 471,25 
 *d

tM = 152,50 
*dsM = 27,50 

 Y* = 610 

 *10  

1 .:  

Y= C + I + G 
Y = 90 + 0,625 (Y – 10) + 50 – 100i + 10 
0,375Y = 90 – 6,25 + 150 + 10 – 100i 

0,375Y = 243,75 – 100i 
 

ISI 

2. :  

 

Y= 640 – 266,66i 

 

Y= 520 + 800i 

 

 

Y = 650 – 266,66i 
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Y = 520 + 800i 

3. – : 

IS = LM 
650 – 266,66i = 520 + 800i 
130 = 1066,66i 
i* = 0,1219  
Y* = 617,50 
C* = 469,69 
I* = 137,81 
G* = T* = 10 

*d
tM = 154,38 

*dsM  = 25,62 

kB 
G  

 .  

 *10  

1. :  

Y = C + I + G 
Y = 90 + 0,625Y + 150 – 100i + 10 
0,375Y = 250 – 100i 

 

 ISI   

2. :  

Y = 520 + 800i 

 

Y = 666,66 – 266,66i 
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3. – :  

IS = LM 
666,66 – 266,66 = 520 + 800i 
146,66 = 1066,66i 
I* = 0,1374 
Y* = 630 
C* = 483,75 
I* = 136,25 
G* = 10 

*d
tM  = 157,50 

*dsM  = 22,50 

610 630

0,1125 0,1375 138,75 

136,25  .  

 *180 200  

1. :  

Y = 640 – 266,66i 

2 . :  

MS = d
tM  + dsM  

200 = 0,25Y + 50 – 200i 
0,25Y = 150 + 200i 

LMI  

3.:IS = LM   

640 – 266,66i = 600 + 800i 
40 = 1066,66i 
i* = 0,0375 
Y* = 630 

 

 

Y = 600 + 800i 
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 IS LM  :  

i* = 0,0375  
Y* = 630 
C* = 483,75 
I* =146,25 

*d
tM  = 157,50 

*dsM = 42,5   

) (

 

0,1125 0,0375.  

)
r
1 Ms(  

 .  

  : :  

C = 80 + 0,85yd 
I = 800 – 200i + 0,05y 
G = 180 
T = 160 

d
tM  = 1/5 Y 
dsM  = 8/i 

Ms = 2000 

 :  

1. .  

2. : 

 30  

 20. 
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.  

  

 

 LM 

 LM’ 

)B.(  

IS 

BP B 

 LM  IS.  

  : ) )La 

relance conomique(  

  )03 ( :

 .

)IS-LM.(  

1. :  

Y = C + I + G; 
C = C0 + b (Y – T); 
I = I(i), [I = I0 - ji]; 
G = G0, T = T0  

Y  :PIB.  

i :.  

C : .  

I :.  

 

LM 
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LM' 
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IS 
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G :).(  

T :.  

2. :  

Ms = Md
i 

Md = L(Y,i), [Md = r Y + d i]; 

Ms = M0 ( ). 

Md :.  

Ms :.  

 :  

1 . 

)03 ( :– 

– .  

 1 2y* i* .  

  :IS LM
)j = 0 d = 0( 

2 .: 

.  

  ).(  

  ISLM )IS
LM( 

3 .: 
.  

   M  
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  ISLM 

  . 

4. : 

.  

 ISLM.  

 )j = 0 (

   

   :

  

  :  

 :  

C = 0,5Yd – 100i + 200 
T = 0,2Y + 100 
I = -300i + 0,3Y + 300 
G = G0 = 400 
L1 = 0,5Y 
L2 = -2000i + 1500 
M = M0 = 2000 

 :  

1. IS LM.  

2.  :Y*, i*, C*, T*, I*, *0G , *1L , *2L , *0M 

3.   
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6.  100 

  

  

  




